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MTH 95: Intermediate Algebra

Winter 2020
Simplifying Function Notation
1. Suppose f is a function where f(x) = 2x + 3. Simplify the formula for...
a) f(5x) b) f(—x) Q) f(x+7)
=200%3 =2 V)+3 =2C D +3
=2(5:)+3 = 2(-0+3 =2(x+ )43
= \Ox +3 =~2%x43 = 2xx M3
=1k 4+ \7
2. Suppose g is a function where g(x) = x?— 6. Simplify the formula for...
a) g(5x) b) g(—x) A glx+7)
2 — 2
:Cj’z——b =C3;(o —-C)——(o
=( - —_ 2
= (536 (e = (=
=25x" - = x*-G = R Me 4 ~(o
= X" |Uyx +

3. Suppose h is a function where h(x) = x* + 2x — 7. Simplify the formula for...
a) h(5x) b) h(—x) ¢) h(x+7)
=C Ya20)-F  =(F0)H)F =C 2 )-F
Sloeas -] FCAREOT -G e 7
Z25¢ r\ox~F = K _2x-T = 3 M A MA 2t -
=¥ +lox + 50

Instructor: Alex Jordan 1



MTH 95: Intermediate Algebra Winter 2020

4. Suppose k is a function where k(x) = 2x +93. Simplify the formula for...
a) k(5x) b) k(—x) o) k(x+7)
_ 20 )+3 =2C ) +3 =2C ) *3
T (Y9 ¢+ ¢ )+<
2(sx)+ 3 - 2(=X) +3 = 2(x+t3)+3
- O+
St O k1) +9
= -2x %3 = 2x+M +3
_ \ox £ 3 —% e x4 G
S5x + Q‘ = 2%+ '3
5. Let f be the function with formula f(x) = x3 —6x2 + 11x —6. X+

a) Use graphing technology to plot a graph b) Simplify the formula for f(2x).
of f.

@Ks“'l‘( x> +22x~b

c) Use graphing technology to plot a graph d) Do you notice anything about how the two
of y = f(2x), using your formula from graphs relate to each other?
the previous part.

Secomd 13 Fom&)rcsgﬁ-‘ fmouerd
Y ows ‘01 a  Locke of 2

1

6. Let g be the function with formula g(x) = PR
x?+1

a) Use graphing technology to plot a graph b) Simplify the formula for g(x + 2).
of g. |

)(24—%‘6 *'S-

c) Use graphing technology to plot a graph d) Do you notice anything about how the two
of y = g(x +2), using your formula from graphs relate to each other?

the previous part. Seend 1S S\\v\\'\e J .ﬁﬁ \efl4
b\{ 2 W\A‘S_

Instructor: Alex Jordan 2



MTH 95: Intermediate Algebra Winter 2020

Technical Definition of a Function

1. A function named C is given by {(1,2),(2,4),(3,6),(4,6),(5,8)}.

a) What are the domain and range of C? Give your answers using set notation (with the

curly braces). / \ i 2 ' L'\) b | 83

{\,2,3,‘4,5}
? .

b) Graph C. ¢ . ¢) Whatis C(2)? What is C(6)?
. (Y=Y
\‘L . C 3 6 VS Agr A C'S d\')Ma
—t——t ;_ >y X C(&) \q w\étpw.c}
d) Solve the equation C(x) = 8. e) Solve the equation C(x) =0.
oput T €Guehen l\w o
hes Ao solvhun
%x=S >

2. Here are some graphs that give relations between x and y. Your job is to determine if the
relation can be used to define y as a function of x. For each graph, after you make your
decision, say a little bit about why. If you decide that the relation can be used to define a
function, then you can just say that. But if it cannot, then give a reason why. For example, you
might say something like “There is more that one possibility for what f(2) would be.”

fe, iy Ho- 4|7 1es 4|’ wes
’ A
M\ x | T X Y. /\ X
4 ¢ (\\‘ — ’G(q\ =-3
- PGy 15 wadbfacd
NO y NO Ty
el i /\ X Lo x
4 Y \<\1 A

[nstructor: Alex Jordan 1
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3. Which of these tables describe y as a function of x? For each table, after you make your
decision, say a little bit about why. If you decide that the relation can be used to define a
function, then you can just say that. But if it cannot, then give a reason why. For example, you
might say something like “There is more that one possibility for what f(2) would be.”

x|y x|y x|_y x|y x|y x|y
1]-12 10| 3 -12| 9 2| =2 3 1-1 red | Mercury
2110 15| 4 10 8 4|17 8 | 10 orange | Venus
3| 8 20| 3 8 3 5|1 7 |14 yellow | Earth
4| 5 251 4 5 | —2 8 7 | 14 green Mars
5113 303 13 | 1 413 12 | 13 blue | Jupiter
6| 11 35| 4 11 1 10 16 | —9 purple | Saturn
K-vclue
Yes.  Yes Mes gor porred Yes Yes.
.A\\'V\ M
-
one <A V")" ey No,
4. For each of ?!se relations between x and y, decide |>1£\' y is a function of x. (gt 2.
W PO
a) y=3x—2 1ES b) 2y =3x=2 ve c) y2=3x—-2
/ / Hes Ua.._: Y (’2. ) 'L)
one O”\'PA' bne W"PJ’ —%_ yY=2 or Y= =2, (1 ] -’L)
No.,
d)/x2+y2=4 NO e) |x|—y2=x2' No  y=%/X O
| Z
2 = mekes hwo
o "- g 2. 1 Iretes
7N 2 =L
T -2 Y= =2 Y= o Y=
5. Think about(Gne specific persom, living or dead. Let a represent the age of that person, and h
represent their height.

a) Is h a function of a? If not, explain why b) Is a a function of h? If not, explain why
not. d not.

\
aﬁe as '5#} \f\tJ\«\l— as -f\?\-‘]‘ NO-

09e =g o«-Sr\Yd'
f— } age — hewght
£2 heyw — agc
C\“) 43 M»U“\')\f
6. Let w represent the weight of a (1 foot) x (1 foot) x (1 foot) package you want to send through °“3'P*
the postal service, and C represent the cost to ship it.

\f\c:f)r\ os o«}\m}.

a) Is C a function of w? If not, explain why b) Is w a function of C? If not, explain why
not. \res not. NO )

Instructor: Alex Jordan 2



